(D) | PLOT SCALE:1=1 DWG. SCALE:1 A2542100
4 3 2 {

CENTER PUNCH MARKINGS THIS SIDE SEE DETAIL "B"
] SEE DETAIL"C"
a=: A
8 \ SEE DETAIL "D"
B \ .
. “
-~ TIG WELD
&as)s
(2.836 [72.03)) \
005
24)(25 )26
12 | 5
F I F 3 ! ¢
I_I: n I_I: u ST
TYLIE LY SN
Sz’ 1 Sz’ I i Q § > TIG WELD
NN
I 23 )24 % § S
-t | § § SEE DETAIL
1 (2.836 [72.04]) AN \
TIG WELD S8
NN 3
c
SECTION A - A
4 17
1
. | I SCALE 20X 14
C """" [ C
r 19 )20 )21
1 9
15 )(22
S B
e DETAIL "C"
DETAIL "B" 18
26 6 - 32 UNC 2B NUT SST 1
T 25 #6- 32 X 5/16" LG, SOC. HD. SCREW ssT 1
TIG WELD : I : \ TIG WELD 24 148 1.D. X .031 THK. LOCK WASHER ssT 2
' ‘s 23 #6 - 32 X 3/16" LG. SOC. HD. SCREW ssT 1
L 2 =22 lmoiszs00135 SPRING WASHER ssT 4
! I ! 21 #191000 COPPER GASKET OFHC COPPER 1
! . 1 Y 20 #190069 #8 - 32 PLATE NUT ssT 3
. | 19 #8 - 32" X 3/4" LG. SOC. HD. SCREW ssT 6
NOTES: : I : B> #630000 BNC CONNECTOR ssT 1
B 1. BONDING ASSEMBLY SHALL BE LEAK TESTED 11 K 17 #4 - 40 X 1/8" LG. SOC. HD. SCREW SST s 1B
USING A MASS SPECTROMETER WITH " 16 120 1.D. X .040 THK. LOCK WASHER SST 4
MINIMUM SENSITIVITY FOR HELIUM 1 ! I ! / 15 #4 - 40 X 1/4" LG. SOC. HD. SCREW SST 6
TE :: :A[’E’TlsRs;ﬁ/““;gZD;&’iEf;ER g 1.V Blu #110004 1 1/3 0.D. NONROTATABLE VACUUM FLG. ssT 1
' : 13 | S$5-400-1-2 1/8 - 27 N.P.T. MALE CONNECTOR ssT 2
ALCATEL ASM-110TCL DETAIL "D" 12 B5-320008-00 B5-30 FEED THROUGHT TUBE SUP. BRKT. ssT 1
VARIAN NCR 925 OR 936
VEECO MS-9, MS-90 OR MS-18 11 12-910211-00 L2-90 ELECTRICAL CONNECTION OFHC COPPER 1
DU PONT GEC 241208 DETAIL "A" SILVER SOLDER SCALE 4X 10 | 1291021001 12-00 FEED THROUGH ADAPTER TUBE ssT 1
07 & 9 12-910209-01 L2-90 DIAMOND SENSOR CLAMP CERAMIC 1
CALIBRATION OF THE LEAK DETECTOR
SENSITIVITY SHALL BE PERFORMED JUST SCALE 4X 8 B5-320006-00 B5-30 DIAMOND SENSOR SYN. DIAMOND 1
PRIOR TO TESTING. 7 B5-320005-00 B5-30 WATER COOLED SLIT HEAT SINK TUNGSTEN 1
FINAL TEST WILL CONSIST OF SURROUNDING 6 B5-320003-00 B5-30 INLET PROBE TUBE SST 1
THE ASSEMBLY (BAGGING) WITH HELIUM. THE 5 B5-320004-01 B5-30 WATER COOLED SLIT VAC. FLG. SST 1
ASSEMBLY WILL BE REJECTED IF A 296 DEFLECTION REF. SOURCE 4 | 1291020402 [12.90 COPPER TO METAL ADAPTER ssT 1
IN THE MOST SENSITIVE RANGE OF THE LEAK 3 B5-320007-00 B5-30 WATER COOLING ENTRANCE PORT MONEL 400 1
DETECTOR IS SENSED WITHIN 1 MIN.
D (SWAGELOK) D DG VACUUM PRODUCTS CORP 2 B5-320002-00 B5-30 OUTER WATER COOLING TUBE OFHC COPPER 1
2. CERTIFICATION OF ULTRA SONIC . 1 B5-320001-00 B5-30 INNER COOLING TUBE OFHC COPPER 1
TEST AND VACUUM EXAMINATION DEARBORN VALVE & FITTING CO. 23842 CABOT BLVD.
SHALL BE SIGNED BY A CONTRACTOR 1540 N. OLD RAND ROAD HAYWARD, CA 94545-1651
REPRESENTATIVE AUTHORIZED TO SIGN SUCH P.0. BOX 847 TEL: 1-800-443-8817
CERTIFICATION WAUCONDA, IL. 60084-0847 FAX: 1-510-887-0626
TEL: 708-526-6900 B85320000-01
A 3. WATER PRESSURE TEST AT 500 P.S.I. AFTER FAX: 708-526-1221 i . A
WELDING AND ASSEMBLY 0z
iz MUSCIA 7/11/9( . SHU 216197
4. KEEP THE ASSEMBLY CLEAN, AND WRAP FOR UHV D ASSOCIATE SPRING RAYMOND K" B5-30 APS ID
PACKING WITH ALUMINUM FOIL. 1705 INDIAN WOOD CIRCLE D. SHU 2/6/97 | .M. KUZAY 2/11/97 X-RAY BEAM POSITION
SUITE 210
5. DIMENSIONS IN [ ] ARE MILLIMETERS AND AU 2 sHumuscia | 7rused MONITOR FOR 2-ID-E
FOR REF. ONLY . WATER COOLED
TEL: 1-419-891-9292 D. SHU 206197 SLIT ASSEMBLY
1 | DRAWING BROUGHT UP TO DATE M.J.M. J.B. | 1onesr HAI
SEE PARTS LIST

LF
11 D | B5-320000-01

8 7 6 ) 4 3 2




